
 

 
 

 Modaresane.ir  021 – 88904002مدرسانه آموزش مفهومی ریاضی ، ثبت نام : 

999ـ  1   × 3 ÷ 999 = 3 

 - 4دمای تهران = ـ 2 

 

 

 

 

 

 ـ  3  

(7.4 × (ارتفاع  ÷ 2 = ارتفاع                4.368 = (4.368 × 2) ÷ 7.4 = 1.18 

 

   صفر ـ 4 

ـ 5 
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     24 دقیقه          
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 ـ   8 

1.75 × 800 = 1400                  1400 |
100

=  متر 14

 ـ  9

 

 

 

−ـ  10 3 = 0 → = 3 

48ـ  11 + 120 = 168 → 180 − 168 = 12° 

 سانتی متر  0049/0ـ 4میلی متر،  02/7ـ 3کیلومتر،  0009/0ـ 2متر،  14/2ـ 1ـ 12 

 0049/0 100  متر 1 ؟  کیلومتر  1 0009/0

 000049/0 1  میلی متر  1000 02/7  متر 1000 9000/0

 

80ـ 13  ÷ 4 = 20 → 20 × 3/14 = 62/8 → 62/8 × 2 = 125/6 

 ـ   14 

360 ÷ 60 =  دایره 6
1
6

3       شکل  × 2 =   قطر  دایره  6

6 × 3/14
6

=
3
14

       محیط  کمان 
3
14

+ 6 = 9/14 

180ـ   15  − 120 = 60                 60 ÷ 2 = 30° 

 

 

 

 

 

  

 

 

 


